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(unless #mistakes = 0 is achievable on data T)
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Best K depends on:

* Bias: estimates hat{f}_m trained on N- N/K examples might perform better if trained
            on all data, so small K might be pessimistic: overestimate EPE
* Variance: - larger validation set size N/K reduces variance
                  - but fewer folds K increases variance
                  - stability of estimators hat{f}_f also has effect

{

Complicated,
so optimal choice
only known in
special cases

In practice: K=5 or K=10 is good in many cases (see book for references)
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